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Ideals for irreducible component#ﬂ)f Xpar

I =W +u + . —2u—1)

* 1 irreducible components of dim¢ = 0, with total 32 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(w?4+u +... —2u—1)

(i) Arc colorings
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u6—3u +2u?+1
ag =

ub — 2ut + u?

ag —
—u +4u” — 5ud + 3u
ul 9+ 8u” —3u® —3ud+u
7u14 +19u'? — 22019 + 3u® + 1408 — 6u* — 4u® + 1 )
3 2

ayp =

as = u18 + 8ul® — 250 + 36u!? — 170! — 1208 + 1208 + 2u* — 3u

—10u?! + - — 2u + 4u
ayp = u23—9u21+-~—2u3+u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u? + 48u?7 — 4u?0 — 252u2° + 44u?* + 740u?3 — 208u?? — 1264u>t + 536120 +
1080w — 768u'® + 64u'” + 48016 — 1008u'® + 176u'* + 612u'3 — 436u'? + 320u!! +
120010 — 42449 + 128u® — 4u” — 60w’ + 108u° — 12u* — 4u® + 4u? — 12u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs w4+ 14u—5
c2,C8 w3 = 3udt o —dut 41
c3,C6, C7 W 4ut 4+ —2u—1
C4,Cy w4 —2u—1
¢10 u¥? 1Tt 4 - 8u? 4 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢s5 Y32 — 2330 ... — 296y + 25
C2,C8 v ATy e =8yt 1
€3, C6,CT 2 —2ryl 116y + 1
Cq,C9 y32+17y31+--~—8y2+1
c10 Y2 =33+ — 16y +1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = 1.029010 4 0.2812891

—3.89830 + 3.895031

—9.35061 — 2.900911

1.029010 — 0.28128971

S
I

—3.89830 — 3.895031

—9.35061 + 2.900911

—1.134230 + 0.2363971

S
I

—1.32933 + 0.527831

—5.59448 — 0.647881

= —1.134230 — 0.2363971

=
-~
|

—1.32933 — 0.527831

—5.59448 + 0.647881

u= 0.166316 4 0.7757741 —1.27472 — 7.881511 | —6.19556 + 6.689107
u= 0.166316 — 0.7757741 —1.27472 4 7.881511 | —6.19556 — 6.689101
U 0.729645 + 0.2409631 —4.28206 — 3.888891 | —10.89128 4-4.904671
u= 0.729645 — 0.2409631 —4.28206 + 3.888891 | —10.89128 — 4.904671
u = —0.028912 4 0.7640041 4.01456 + 2.241941 | —0.65690 — 3.797271
u = —0.028912 — 0.7640041 4.01456 — 2.241941 | —0.65690 + 3.797271
u = —0.140851 + 0.7482001 1.56622 + 3.152661 | —2.67728 — 3.414801
u = —0.140851 — 0.7482001 1.56622 — 3.152661 | —2.67728 + 3.414801
u= 0.191682 4 0.7005761 —2.34434 4 0.397371 | —7.83598 + 0.581401
u= 0.191682 — 0.7005761 —2.34434 — 0.397371 | —7.83598 — 0.581401
u = —1.237710 + 0.3136501 0.29651 4+ 1.652311 | —4.59303 — 0.153091
u = —1.237710 — 0.3136501 0.29651 — 1.652311 | —4.59303 + 0.153091
u = 1.288430 + 0.1613281 —5.00599 — 2.815621 | —13.51638 4 3.825461
u = 1.288430 — 0.1613281 —5.00599 4 2.815621 | —13.51638 — 3.825461
u = 1.281200 4 0.3254151 —0.06115 — 6.175101 | —5.73067 4 6.905381
uw= 1.281200 — 0.3254151 —0.06115 + 6.175101 | —5.73067 — 6.905381
u=1.350330 4 0.3173471 —3.13584 — 7.017471 | —7.66223 4 4.883221
u= 1.350330 —0.3173471 —3.13584 4+ 7.017471 | —7.66223 — 4.88322]
u= 139424 —7.31963 —11.4830

u = —1.364340 + 0.2938201

—7.25067 + 3.230581

—12.64791 — 1.856117

u = —1.364340 — 0.2938201

—7.25067 — 3.230581

—12.64791 4 1.856111

u = —0.599844

—1.22821

—8.26170

u = —1.364190 + 0.3280691

—6.10646 + 11.875801

—10.77954 — 7.995311

u = —1.364190 — 0.3280691

—6.10646 — 11.875801

—10.77954 4 7.995311

u = —1.41547 + 0.022151

—10.82670 + 4.398581

—14.8085 — 3.53551

u = —1.41547 — 0.022151

—10.82670 — 4.398581

—14.8085 + 3.53551




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.248101 4 0.3230311

—0.501058 4+ 1.0349801

—T7.18759 — 6.414021

u = —0.248101 — 0.3230311

—0.501058 — 1.0349801

—7.18759 + 6.414021




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs w3 - 4 4 14du—5
C2,Cs w3t —3udt o —dut 41
c3,Cg, C7 W+ —2u—1
4, Co w4 —2u—1
C10 w3 1T 4 = 8u? 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢s y*? —23y3 + . — 296y + 25
Ca, Cs 21Ty e =8y 1
C3,C6,C7 32—l 16y + 1
€1, €9 v 1Ty =8yt 1
€10 Y2 =3yt 4 — 16y + 1




